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BZYCT-137 : GENETICS AND EVOLUTIONARY
BIOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt any

four questions from Question nos. 2 to 7.

1. (a) Fill in the blanks with suitable words :
5x1=5

(1) The process by which genetic
information from DNA in the
chromosome 1s transmitted to m-RNA

is called .............. .

P.T.O.



(i)

(iii)

(iv)
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Different alleles for specific traits on

homologous chromosomes are called

Making of expression of alleles at one
locus by alleles at a second locus is

called ............. .

Failure in mating because of the
inability of sperms of one species to
reach the egg of another species in

animals is known as .............. .

(v) A group of interbreeding natural

population that 1is reproductively
isolated from other such groups is

known as ............ .

(b) State whether the following statements are
True or False : 5xX1=5

(@)

(i)

Carl Correns did experiments in
Mirabilis jalapa to show extra-nuclear
mode of inheritance.

Allopolyploidy occurs when organisms
have more than two sets of
chromosomes from the same species.
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(i11) Archaean, proterozoic and cenozoic are
the three eons of the geological time
scale.

(iv) Members belonging to different
species refrain from mating because of
behavioural differences between them
and mechanical isolation.

(v) The theory of use and disuse of organs
was proposed by Lamarck.

(a) Explain why did Mendel select pea plants
for his experiments. 5

(b) What 1s crossing over ? Give any four
features of crossing over. 5

Explain the following : 2x5=10

(a) Klinefelter syndrome

(b) Sex determination in honeybee

(a) With the help of a suitable example,
explain the phenomenon of tautomerism. 5

(b) With the help of suitable example, explain

the concept of multiple alleles. 5

P.T.O.



5.
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(a) “In small populations, the gene frequencies
often tend to drift.” Justify the statement

giving suitable example. 5

(b) Enlist the various changes that took place

1n the evolution of horse (any five). 5

(a) What is the difference between extinction
and mass extinction ? Discuss any two

major mass extinctions. 5
(b) Explain the origin of prokaryotes. 5

Write short notes on any two of the following :
2x5=10

(a) Sympathic speciation

(b) Directional selection

(c) Homologous organs
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e : G GET 1 AFE B T 9@ 2 9 7 TF

4 fe=sl =T 999 & 3 9Tl

1. (a) T Toml &1 Sugs vsd @ 9T

5x1=5

(i) o ufern & gR1 MaRR g
TorE (shEEE) § DNA § m-RNA
L R A T S FEA

P.T.O.
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(i) ¥ PREH  (HREEm) W fafse
iRt (22®@) & fau  fafe=

(i) T% g W Telal (W fasmferar)
*1 sifveafa &1 S dlwd & Tehal

(iv) Sigstt o Tk Sfd o YR K1 Hd
Sifd & 3fS dk UgH I STeTHl &
FROT W H SEHEAA s
HEA T

(V) ST=RUSHA i dlcil Yiehideh HHEE Al
g S e €9 § T TH 9l

(b) =arEy fo Frefafad wu ¥ € a1 3@
g 5x1=5

(i) ®d &I 4 HEH-9@I THR HI
Femia & e & foau firfafea
Stear | wdeor fee 9
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(ii) @ fore <fta o wh @ Wi (i)
& TRl % @ e W2 e €,
q9 Tl Ceifaelsel) Bt 2l

(i) enfpam, WiASiEs S EHSiES
-1 HTehT & A 33T T

(iv) fo= sifaal & ws= 9 T8 & O

4 U hY o
% aedlich Sch di< oddelild H=R 3:ﬁT

Fi5eh gUERRTT B B

(V) 3 & SUEN SR SruE w1 fagr
@ o = e

. (a) foa=A wifST ff wed 9 Oq wheon &

fq Wt & diel 1 = A foRa o S
(b) s= fafma @0 @ 2 <= fafma =+

= fogiva sdrEy| 5
. Tr=fafea w1 oo wifse 2x5=10
(a) FeThe fagm

(b) mymee H ol &1 fuion

. (3) SUYF IO FH TR § emisH &l

qfieeT i THEE| 5

P.T.O.
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(b) 3UgF SIEWN HI FEA ¥ FGIH

fashfeqdl 1 Fhoudl Sl THSEY| 5
5. () “tw BRI wEfe d SH smgfaal &

ARt oo &1 wgf et 817 @

FeM w1 gfte 3fad 30 & |y Hifvw)

5
(b) ewa & fowm ¥ TH aw fafa= aRadal
® Yedg BT (HE are) | 5

6. () fogm '@ W wmMfewd foam & &= *0
TR T ? frkl N vgE wfew faqi

W ==l BT 5

(b) WehfEeE (qdh=et Sfai) & Safa o
U IS 5

7. fefafas & 9@ = @1 | oy fewfomr
fafex : 2x5=10

(a) wHEATS Sfd 39

(b) feemcAes SRu/<=A

(c) HHSId 377
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